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R S Agarwal Bit to Bit by Sagar Sir @Spoorthy Ashok Nagar- 6303450967

| Topics | Questions 32 | Stocks and Shares 25
Chapter-1 33 | True Discount 17
1 | Time & work 74 34 | Banker’s Discount 13
2 | Pipes & Cistern 28 35 | odd Man Out & Series | 89
Chapter-2 Chapter-9
3 | Time & Distance 78 DATA
4 | Problems on Trains 48 INTERPRETATION
5 | Boats & Streams 24 36 | Tabulation 25
6 | Race 13 37 | Bar Graphs 30
Chapter-3 38 | Pie Charts 30
7 | Percentage 203 139 | Line Graphs 35
8 | Profit & Loss 160
Simple Interest 71
10 | Compound Interest 41 .
Chapter-4
11 | Average 86
12 | Allegation or Mixture 20 ( R s AG GA RWAL)
13 | Ratio Proportion 84
14 | Partnership BOOK (BIT TO BIT)
15 | Chain Rule
16 | Problems on Ages
Chapter:s T &23& @365 Sir, | o
umbers . . : .
18 | H.CF. & LCM. I, Kharagpur : BT
19 | Decimal Fractions
20 Simpliﬁcation 40 Days BatCh
21 110
22 % Attend Free Demo tomorrow @ 2 pm
Chapter-6
23 | Surds &Indices 54 SPO ORTHY
- e s (Study Circle)
Volume & surface 2nd Floor, Opposite to Brundavan Hotel, Near
26 | Areas 155 Sudharshan Theatre, RTC X - Ashok Nagar Road
27 | Heights & Distances 11
Chapter-7
28 | Calendar 15
29 | Clocks 19
Permutations &
30 | Combinations 27
31 | Probability 35
Chapter-8
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Chapter-1 33 | True Discount 17
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3 | Time & Distance 78 DATA
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Chapter-3 38 | Pie Charts 30
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Chapter-4 ’ '
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16 | Problems on Ages
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Chapter-6
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24 | Logarithms 62 (Stl.ldy Circle)
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Chapter-7
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R S Agarwal Bit to Bit by Sagar Sir @Spoorthy Ashok Nagar- 6303450967

‘ Topics | Questions 32 | Stocks and Shares 25
Chapter-1 33 | True Discount 17
1 | Time & work 74 34 | Banker’s Discount 13
2 | Pipes & Cistern 28 35 | odd Man Out & Series | 89
Chapter-2 Chapter-9
3 | Time & Distance 78 DATA
4 | Problems on Trains 48 INTERPRETATION
5 | Boats & Streams 24 36 | Tabulation 25
6 | Race 13 37 | Bar Graphs 30
Chapter-3 38 | Pie Charts 30
7 | Percentage 203 39 | Line Graphs 35
8 | Profit & Loss 160 .
9 | Simple Interest 71 - -
10 | Compound Interest 41 .. R !
Chapter-4 )
11 | Average 86 ’
12 | Allegation or Mixture 20 (R s AG GA RWA L) »
13 | Ratio Proportion 84
14 | Partnership 42 BOOK (BIT TO BIT 3
15 | Chain Rule 52
16 | Problems on Ages 40
02250 Doti6-.
umbers
18 | HCF. & LCM. oI, Kharagpur - S
19 | Decimal Fractions
20 | Simplification 40 Days BatCh
21 | Square - CubéRoo </ 110
22 | problemsonurtbers | 94 Attend Free Demo tomorrow @ 2 pm
Chapter-6 i~
23 | Surds & indices 54 SPOORTHY
e > (Study Circle)
Volume & surface 2nd Floor, Opposite to Brundavan Hotel, Near
26 | Areas 155 Sudharshan Theatre, RTC X - Ashok Nagar Road
27 | Heights & Distances i1
Chapter-7
28 | Calendar 15
29 | Clocks 19
Permutations &
30 | Combinations 27
31 | Probability 35
Chapter-8

R S Agarwal Bit to Bit by Sagar Sir @Spoorthy Ashok Nagar- 6303450967
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—| Topics Questions 32 | Stocks and Shares 25
Chapter-1 33 [ True Discount 17
1 | Time & work 74 34 | Banker’s Discount 13
2 | Pipes & Cistern 28 35 | odd Man Out & Series 89
Chapter-2 Chapter-9
3 | Time & Distance 78 DATA
4 | Problems on Trains 48 INTERPRETATION
5 | Boats & Streams 24 36 | Tabulation 25
6 | Race 13 37 | Bar Graphs 30
Chapter-3 38 | Pie Charts 30
7 | Percentage 203 L 39 | Line Graphs 35
8 | Profit & Loss 160
Simple Interest 71
10 | Compound Interest 41
Chapter-4
11 | Average 86
12 | Allegation or Mixture 20 ( R s AG GA RWAL)
13 | Ratio Proportion 84
14 | Partnership 42 BOOK (BlT TO BlT) '
15 | Chain Rule 52 i
16 | Problems on Ages 40
Chapter-> PPy v— &&& @365 sir,
umbers Lo ]
18 | H.CF. & LCM. I, Kharagpur o
19 | Decimal Fractions
20 | simpiatr 40 Days Ba'l'ch
21
2 Attend Free Demo tomorrow @ 2 pm
Chapter-6 &
T SPOORTHY
e > (Study Circle)
Volume & surface 2nd Floor, Opposite to Brundavan Hotel, Near
26 | Areas 155 Sudharshan Theatre, RTC X - Ashok Nagar Road
27 | Heights & Distances 11
Chapter-7
28 | Calendar 15
29 | Clocks 19
Permutations &
30 | Combinations 27
31 | Probability 35
Chapter-8
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R S Agarwal Bit to Bit by Sagar Sir @Spoorthy Ashok Nagar- 6303450967

| Topics | Questions 32 | Stocks and Shares 25
Chapter-1 33 | True Discount 17
1 | Time & work 74 34 | Banker’'s Discount 13
2 | Pipes & Cistern 28 35 | odd Man Out & Series | 89
Chapter-2 Chapter-9
3 | Time & Distance 78 DATA
4 [ Problems on Trains 48 INTERPRETATION
5 | Boats & Streams 24 36 | Tabulation 25
6 | Race 13 37 | Bar Graphs 30
Chapter-3 38 | Pie Charts 30
7 | Percentage 203 39 | Line Graphs 35
8 | Profit & Loss 160 S,
9 | Simple Interest 71
10 | Compound Interest 41
ARITHMETIC
11 | Average 86
12 | Allegation or Mixture 20 ( R s AGGARWAL)
13 | Ratio Proportion 84
14 | Partnership 22 ' BOOK (BIT TO BlT)
15 | Chain Rule 52
16 | Problems on Ages 40
Chapter:5 T &3@ iaa s,
umbers ) )
18 | HCF. & LCM. -~ I, Kharag pur " . g
19 | Decimal Fractions
20 | Simplification 40 Days BatCh
21 | Square - Cub 110
22 | problems 94 Attend Free Demo tomorrow @ 2 pm
Chapter-6
23 | Surds & Indices 54 SPOORTHY
e - (Study Circle)
Volume & surface 2nd Floor, Opposite to Brundavan Hotel, Near
26 | Areas 155 Sudharshan Theatre, RTC X - Ashok Nagar Road
27 | Heights & Distances 11
Chapter-7
28 | Calendar 15
29 | Clocks 19
Permutations &
30 | Combinations 27
31 | Probability 35
Chapter-8
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R S Agarwal Bit to Bit by Sagar Sir @Spoorthy Ashok Nagar- 6303450967

J Topics J Questio@ 32 | Stocks and Shares 25
Chapter-1 33 | True Discount 17

1 | Time & work 74 34 | Banker’s Discount 13

2 | Pipes & Cistern 28 35 | odd Man Qut & Series | 89
Chapter-2 Chapter-9

3 | Time & Distance 78 DATA

4 | Problems on Trains 48 INTERPRETATION

5 | Boats & Streams 24 | 36 | Tabulation 25 J

6 | Race 13 J 37 | Bar Graphs 30
Chapter-3 38 | Pie Charts 30

7 | Percentage 203 39 | Line Graphs 35

8 | Profit & Loss 160

9 [ Simple Interest 71 '
10 | Compound Interest 41
Chapter-4

11 | Average 86

12 | Allegation or Mixture 20 ( R s AG GA RWAL)
13 | Ratio Proportion 84 )

14 | Partnership 42 s . BOOK (BlT TO BIT)

15 | Chain Rule 52 e

16 | Problems on Ages 40

- 6)230‘30 05 o
17 | Numbers A . . :
18 | H.CF. & LC.M. : T, Kharagpur ' -
19 | Decimal Fractions |
20 | Simplification 238 40 Days BatCh
21 | Square - CubeRoots’ 110
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